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B 5% f: XY I2owT, XOMwIZEZ X,
(1) X DIEROWAGES A1, Ay EHLT F(A1N o) = f(A1) N f(Ar) B LB E L,
(2) f DHE R SIE, X DIEEOEIES A, Ay KL T f(A1NAs) = f(A) N f(Ay) DIED D Z
&z,

(B (1)XCSY L, fla)=2 92, 20LE, TRTODACX ITHLT f(A)=ATHZD5, X
DIERDIITHES Ay, Ay ITXLT

J(A1NAy) = A1 NAy = f(A) N f(Ag)

DY LD, (2) X DIEBOMIES A1, Ay KWHLT, f(A1NAx) C f(A1) N f(A2) FREINTWS
DT, f(A1) N f(A2) C f(ALNA) ZREIFXX, ye f(A)N f(A) ZEERICINS. y e f(4Ar) 22D
y € f(A) THBD6, 5 11 € Ay, 10 € Ay DHFTEL T, f(11) =y = f(we) PR D LD, f IFH
HTHEDS, 11 =20 BIRYVLE, 21 € AyNAy KD y= f(z) € f(A1NAg) THS., Lo T
f(AD) N f(A2) C f(A1NAg) BIRDILD. m

LR TH 205, RETIEIAWI EICHERLEVL,



